log AY/Y)

log (Y/AY)

LABJNDu2-Normhelligkeit I*
I* Ync_YW nc_loox

1*1 aganDu2 =[IN[A 1n+A2nY)I(A 20A )] (Yn/100<Y<=Y,c)
I \(3,6)=261* ,(18)=593 1 (90)=924

16g1* /1* J=0, m,=0,33
L* =49, I* =593

100292360, Al
1*1§=593,26, Ay=0

I3 6=260,92/%,%5 Anwendungs-

bereich
1Y,=18

LABJINDu2
Normfarbwertdifferenz
Yoc=Yw - nc=100,
1% Aanpu2 =INI(A 10+A2aV)II(A 20A0n)] (Yn/100<Y<=Yy0)
dY=Agn(A1tAsnY)  A4=0,017, A,=0,0058
Aon,pes1,5, Aon,a=1,0, siehe CIE 230:2019
Ygg=0,45, Ay,=1,000, ¢=0,84

dY;=0.10, A1=0.014, Agn 0,0048
dY3,=0,03 Y,=18, dY=0,10

=593 dY,=0,10 dY,/Y,=0, 0056
]

Anwendungs-

bereich

LABJINDu2
. Normfarbwertemfindlichkeit
SHEYY Yoc=Yw - nc=100,

"1 AganDu2 =[IN[A 10+ A2 YVI(A 20A )] (Yn/100<Y<=Y,c)
AYIY=Ag A1 +AZYVY

(dY7:"%=0,0050, Ay =1
(dY/Y)5=0,0056, A =0,014, Ag
(dY/Y} = 0088 Y, 1& \(,:0

0, O

log(dY/Y)F-2,24 n\l—*O l‘v: ~ e
I*,=593 dY,,=0,1Q dY,, /Y 0 0056|

_ bereich

|YU:18
Yy=90

Yn=3.6

LABJINDu2
Normfarbwertkontrast
Yoc=Yw =

=100,
"1 aganDu2 =[IN[A 10+ A2 Y)I(A 20A0n)] (Yn/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dY}=198,78, A,=1,000, ¢=0,84
(Y/dY)g=176,51, An=0,014, A,=0,0048
(YIdY} 113,13 Y, =18, dY=0,10

C,=(Y/AY)

I* =593 dY,=0,1Q Y,/dY, 176

bereich
'y,=18
1 Yy =90

Anwendungs-

Anwendungs-|

=
el

Iog(AY/AY )

log [AYY) I (AYIY),]

log [(Y/AY) I (YAY),]

LABJINDu?2 relative Normhelligkeit I*/I*
1%/1% Ync‘YW nc_loox
u

1* 1 ABaNDU2 =[IN[(A 17+A2nY)I(A 20A0n)] (Yd/100<Y<=Y,c)
1* N(3,6)=261 1 ,(18)=593,*,,(90)=924

I* gyl =155, Ay=1,000, ¢=0,84

I*1¢/I* =1,00, A =0,014, A,;=0,0048

I*3 gI*=0,43,1*,=593,26 ;=18

log[I*/I* ,]=0, m,=0,33
L* =49, I* =593
Anwendungs-|
bereich

TIM=36 0 Yw=90
LABJNDuU2 relative
Normfarbwertdifferenz
Yne=Yw nc=100,

%L aganbuz =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,0)
AYIY,=AgfA 1 +AgYIdY,

dYeg/dY,=4,43, Ay=1,000, ¢=0,8
Y,¢/dY,=1,00, A=0,014, A2= f 0
dY3 ¢dY,=0,31 Y,£18, dY=0,10

AY/AY,

o
I*,=593 dY,=0,1Q dY,/Y,=0, 0056

LABJINDuU2 relative
Normfarbwertempfindlichkeit

SSu=OYMIBYN)y . =y, - =100,

L aganpuz =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,()
@YIYYAYIN=(Ag A )IY(AYIY)]

(dY/Y}/(uV/Y)=0,88, Ay=1,000, ¢=0,84

(0]

8
(dY/Y)g/(dYrA=1,00, A =0,014, A,=0,
(dY/Y%vd(dY/YL—-l.SG v, 518 dy=0.10

048

log[(dY/YY(dY/Y),]=0, m=-0, 13 1
= Anwendungs-|
I*,=593 dY,=0,1Q dY,/Y,=0,0056 | boramung
1y,=18

YN=3.6 | Yw=90

LABJINDuZ relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y . =y, =100,

L aganpuz =[IN[A 17+A2nY)V(A 20A0n)] (Ynd/100<Y<=Y,0)

(YIAYY(YIAY) =Y IYIAY )T oA gt Agr V) (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=0,84
(Y/dY)g/(Y/dY)=L.00. An=0.014, /,=0,0048
(Y/dngd(Y/dY =0,64 Y,=18, dY=0.10

T
1
1 bereich

1y,=18
Yw=90




